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Pythagorean Identities - Guided Lesson Explanation 

Explanation#1 

 (sec2 ݔ	‐	1) = tan2 ݔ 

         cot ݔ = 
ଵ

୲ୟ୬ 	௫
 

 (sec2 ݔ	‐	1) (cot ݔ) = 

 (tan2 ݔ) ቀ
1

tan	 ݔ
ቁ = tan ݔ 

So, the answer is tan ݔ 

 

Explanation#2 

sin2 ݔ + sin2 ݔ cot2ݔ  

 cot	ݔ = 
ୡ୭ୱ ௫

ୱ୧୬௫
 

 sin2 ݔ + sin2 ݔ 
௖௢௦మ௫

௦௜௡మ௫
 =  

 sin2 ݔ	൅ cos2 ݔ	ൌ	1 

So, the answer is sin2 ݔ	൅ cos2 ݔ	ൌ	1 

 

 

 

 

 

 

 

 



Name _____________________  Date _________________________ 

Tons of Free Math Worksheets at: © www.mathworksheetsland.com 

Explanation#3 

csc Ө = 
଻

଺
  → sin Ө = 

଺

଻
   

a2 + b2 = c2 

a2 + (6)2 = (7)2 

a2 + 36 = 49 

a2 = 49 – 36 

a2 = 13 

a = √13 

a = 3.6 

So, the cos Ө = 
ଷ.଺

଻
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